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For defining in
context

List
Define
Tell everything that you know
Brainstorm
Tell about
Explore the meaning
Discuss
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No roly eyes
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"3/ Bubble Map

Describe
Use vivid language
Use 5 senses
Describe feelings
Attributes
Characteristics
Properties
Adjectives
Qualities
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Evidence
from her life

determined

Whose
POV?

Middle

School
Social

Studies



Source: What evidence is there to support your
inferences?
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For comparing
and contrasting

Discuss similarities/differences
Distinguish between

Differentiate
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Buddhist
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" Tree Map
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For classifying
and grouping

|

Classify
Sort
Group
Categorise
Give details
Types of
Kinds of
List and elaborate
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| can be H;ppy and
sad in the same day.
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i My face shows my feelings.

Our Feelings
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My friends have feelings too.
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%"“5 Brace Map -

For analysing
whole objects or
parts

; - D %
'_ Parts of i
: Take apart ]
Show structure
A — Physical components ,

Anatomy

D §
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cornea

pupil
iris
lens
rods
retina
cones
optic

nerve
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Flow Map
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For sequencing
and ordering

Sequence
Put in order
Recount / retell
What happens next

Cycles
Patterns

Processes
Change

Solve multi-step problems
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Our Morning Routine g:PP" Rid CE’”L‘%
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Coose your ‘
lunch.

Finish any work in
progress.

Complete your
Bellwork quietly.




The Black Death

Ships
Deatn | | retuming | | R ope | | Earope's | | Mot enough
beaan in from Asia [—>"" = trad(‘: ; ul‘a)ltion_’ people to do
3 brought it g popu the work
China routes died
to Italy
Surviving
peasants
demanded Feudal system
—» began to
better
conditions break down

and wages
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h};”g’ Multi-Flow Map *

Discuss consequences

What would happen if
Predict
> Change
Identify motives
Why
Results
Outcomes
Benefits

=
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V%’”[ Bridge Map

Common relationships
Guess the rule

Interpret symbols
Simile

RF . Metal:!hor

Ratio
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A
plans for A teacher A A chef AX gardener
et Lo successful satisfied thriving

students diners plants

Great lessons don’t happen by
accident any more than gardens
flourish without care.










People do their work in lots of places.



Domain-specific

Vocabulary
Tier 3
is the R -
middle of median A cream
Relating Factor
elating raciol Set Of an oreo

data cookie
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